

$$\sum_{n=0}^{\infty} A_n(n+r)(n+r-1)X^{n+r-1} - \sum_{n=0}^{\infty} A_n(n+r)X^{n+r-1} - \sum_{n=1}^{\infty} A_{n-1}(n+r-1)X^{n+r-1} + \sum_{n=1}^{\infty} A_{n-1}X^{n+r-1} = 0$$

$$A_0(r)(r-1)X^{r-1} - A_0(r)X^{r-1} + \sum_{n=1}^{\infty} [A_n(n+r)(n+r-1) - A_n(n+r) - A_{n-1}(n+r-1) + A_{n-1}]X^{n+r-1} = 0$$

$$\Rightarrow \begin{cases} r^2 - r - r = 0 \\ r(r-2) = 0 \\ r_1 = 0, r_2 = 2 \end{cases} \left| \begin{aligned} A_n &= \frac{A_{n-1}(n+r-1) - A_{n-1}}{(n+r)(n+r-1) - (n+r)}; \forall n \geq 1 \end{aligned} \right.$$

$$\Rightarrow A_n = \frac{A_{n-1}(n+r-2)}{(n+r)(n+r-2)}; \forall n \geq 1$$

$$A_n = \frac{A_{n-1}}{n+r}; \forall n \geq 1$$

$$A_n(r_1) = \frac{A_{n-1}}{n}; \forall n \geq 1$$

$$n=1$$

$$A_1 = A_0$$

$$n=2$$

$$A_2 = \frac{A_1}{2} = \frac{A_0}{2}$$

$$n=3$$

$$A_3 = \frac{A_2}{3} = \frac{A_0}{2(3)}$$

$$n=4$$

$$A_4 = \frac{A_3}{4} = \frac{A_0}{2(3)(4)}$$

$$y_1 = \sum_{n=0}^{\infty} A_n X^{n+0}$$

$$= A_0 + A_1 X + A_2 X^2 + A_3 X^3 + A_4 X^4 + \dots$$

$$= A_0 + A_0 X + \frac{A_0}{2!} X^2 + \frac{A_0}{3!} X^3 + \frac{A_0}{4!} X^4 + \dots$$

$$= A_0 \left( 1 + X + \frac{X^2}{2!} + \frac{X^3}{3!} + \frac{X^4}{4!} + \dots \right)$$

$$y_1 = A_0 \sum_{n=0}^{\infty} \frac{X^n}{n!} \Rightarrow y_1 = e^x$$

$$y_2 = y_1 \int \frac{e^{-\int p(x) dx}}{(y_1)^2} dx = e^x \int \frac{e^{-\int \frac{-(1+x)}{x} dx}}{e^{2x}} dx$$

$$\Rightarrow y_2 = e^x \int e^{\ln|x| + x - 2x} dx = e^x \int e^{-x} \cdot x dx$$

$$\Rightarrow y_2 = e^x [-x e^{-x} - e^{-x}]$$

$$\Rightarrow y_2 = -x - 1 \vee y_2 = x + 1$$

$$\Rightarrow y(x) = c_1 e^x + c_2 (x+1)$$